
k|fyldst
f qmd

cfof]hgfsf] gfd
cfof]hgf ;~rfng 

x'g] :yfg 
ljlgof]lht 

ah]^ ?
hDdf 

1
xl/k'/ zfvf gx/sf] %ljnfn p/f+jsf] #/ b]lv 
/fhdfu{ blIf)f;Dd s[lif k}lg dd{t tyf lj:tf/ 200000

2 pGgt hftsf] afv|f ljt/)f
100000

3 a+u'/sf] kf&f ljt/)f
50000

4 s[ifsx?nfO{ tlnd
135000

485000

1 lzIff 500000

2 afnaflnsfx?lar cltl/Qm lqmofsnfk ;+rfng 120000

4 lszf]/ lszf]/Lx?nfO{ :jf:YolzIff ;DalGw tflnd 100000

5 ;+:s[lt k|a${g 250000

970000

1
clhhsf] #/b]lv pQ/ gx/;Dd / p;dfgsf] #/b]lv 
k|j]hsf] #/;Ddsf] af^f]df df^f]k'/L u|fe]n

1000000

2
xl/nfn d]xtfsf] #/b]lv k"j{ uf]l*xf/L ^f]n x'b} k"j{ 
j/uf%L hf]*\g] af^f]df df^f][ k'/L u|fe]n

600000

3 %]lb p/f+jsf] #/b]lv /fhdfu{;Dd df^f]k'/L u|fe]n ug]{ 260000 860000

4
glGb d*\/sf] #/b]lv l;tf/fdsf] #/;Dd df^f] k'/L 
u|f]en 

400000

5
a]r' c+;f/L #/b]lv klZrd af]wgf/fo)f ofbjsf] 
v]t;Dd df^f] k'/L u|fe]n ug]{  

600000 1000000

6 /fhfhL l*xjf/ yfg #]/fa]/f 50000

2910000

1
ljkb Joj:yfkg ;DaGwL ;fdfu|{L vl/b tyf 
lkl*tx?nfO{ ;xof]u

150000

2 kf]i^ cf]=l*=Pkm= ;DaGwL hgr]tgf sfo{qmd 50000

3 ljBfno tyf k|lt #/w'/L j[Iff/f]k)f sfo{qmd 42500

242500

1 j*f sfof{no k"lhut Joj:Yffkg 72500

2 ;fj{hlgs ;'g'jfO{ sfo{qmd 30000

3 hgk|ltgLlw tyf sd{rf/Lx?nfO{ Ifdtf ljsf; sfo{qmd 140000

242500

4850000

hDdf

jftfj/)f tyf ljkb Joj:yfkg

hDdf

;"zf;g tyf ;+:Yffut ljsf; 

hDdf

hDdf

j*f g+= 3

cfly{s ljsf; 

hDdf

;fdflhs ljsf; 

hDdf

k'jf{wf/ ljsf; 


